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PHYSICS — GENERAL
Paper : GE/CC-1
(Mechanics)

Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.

TR Sy AT AT |
S % SR GR S (F-( I BTG AT Ted @Al |

C-CPITaT 55 2T Ted (=1 ¢ @
(F) (SICIF P TIRSRE @i [ge Tl |

() odle @ V¢ (O3 0(x,r,2) = £TF G2 O 827 By & |

Gmym, A
127‘

() m, 8 m, STIA UG TG T S| @] F = | R TR NF UG 7| (TAE @ VX F =0 |

r

(@) m eI r JPIET 93 (o1 5o GRER 9o IS vtz | BiFfed @FIfas @9t o 2@ @ae @ @
sifexife E=%mm2r2|

() ey <1 WifGlereln Fe

(5) 093 I AF G /T=(3f—4}+l€) @] E=(z°+3}'—ocl€) ey 77

(2) GPS-93 73 71 F? @3 32T efiel Srae It |

(F) @3 (SFET A 10 937 | @7 7 (@PIEASTE TG 0.483, 0.215 6 0.676 =0 (ST W7 e |

() e @ VxV=0 |

(5) R Yo G T2 (FIfs @09l G SICHE ANCHTH A (e @ I (@I Kiprs aflks @oorg el
(I (o fawe 27| 3+8+8

. dL . ~ . p
(F) @I R AATE 9T F9017 (FfeF SA@9 L =7 x p | &Slel Il = T N T = 5F | 93 T

(AT (FNF SHCICO AL @b A Tl |
() & 6, Ax(BxC)=B(4-C)-C(4-B) | (9+3)+¢

Please Turn Over



[T(1st Sm. )-Physics-G/(GE/CC-l)/CBcs] (2)

81 () TH =i @b Tl |

() &9 FIF A2 @3 AfE Fefy Tt |
(5) SR FHAL FE00 F AT 2 3H(R+8)+}

€| (F) TEAmEefed wgefe qafh Igen 2fifes s [efd Fca 93z e i e |

(}) G SRS T2/ e ST @0 | (AT T O m, 9 (@F0o TG 8217 feriiet sRafine
T K ¢ &lfs a3 00 FAT ST eI I |

T €27 SIS H YT I 07 W TR0 T el | (8+3)+(3+9)

vl () RS s @Feg ool @R, n-93 JKE@ 0S|

(}) CFEATE [HOIT ST [ () @ R AP o790 @3 5 (GIted (IibT @ ey F0a @R (IibS &5,
C-a9 g WG |

~ fay A 1
(D) orle @ @<f o 6 e (MY five ety oy A 5 C6? | 0+

Q| (F) SRFERT AR fefere waweg *o-5 i FE

1.

(}) SAETE -5 @ Fp-«ifea foog 7=o:F ey |
(1) *[F-BITTa Sl ey 3

(9) g o9 [ge e | ©O+8+5+3

[English Version]
The figures in the margin indicate full marks.
Answer question no. 1 and any four from the rest.

Answer any five questions : 2x5

(a) Write the Gauss Divergence Law of vector calculus.

(b) Show that V¢ is normal to the surface ¢(x,y,z) = const.

Gmym, A . .
12 7 , Where r 1s the distance

(c) The force of attraction between two masses m; and m, is F=
r

between the two bodies. Show that Vx F =0.
(d) A disc of mass ‘m’ and radius ‘7’ is rolling over a table. If the angular velocity be ‘ @’ then show

— . 3
that the total kinetic energy is E =Zm(x)2r2 .
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What is a cantilever?

Find the value of o for which the vectors /Tz(3f—4}'+l€) and E:(f+3}‘—al€) will be

perpendicular to each other.
What is the full form of ‘GPS’? State its practical applications.

The magnitude of a vector is 10 unit. Its direction cosines are 0.483, 0.215 and 0.676 respectively.
Find the vector.

Show that VxV¢=0.

A rigid body is rotating at a constant angular velocity about an axis. Show that the curl of linear
velocity at a point is twice the angular velocity for that rigid body. 2+4+4

- dL
The angular momentum of a particle about a point is L =(7 x p). Prove that E: T, where,

T = Torque. Hence prove that the angular momentum is conserved.
Prove that, Ax(BxC)=B(4 C)-C(A-B) (3+2)+5

State Newton’s law of gravitation.
Define escape velocity. Find out the expression for it.

What are Geosynchronous orbits? 2+(2+4)+2

Find out the value of total energy of a particle executing simple harmonic motion. Explain graphically.

Write the differential equation of a damped simple harmonic oscillator, where mass of the oscillating
body is m, the retarding force per unit velocity is ‘K’ and the restoring force per unit displacement
is ‘u’. Solve the above differential equation for small damping. (4+1D)+(2+3)
Define modulus of rigidity, n for elastic body.

Determine the twisting couple on a solid cylinder of length / and radius R, rigidly fixed at one end.
Hence define torsional constant, C.

1
Show that, the work done in twisting a wire through angle, 6 radian is By Cco% 24345

How is the surface tension of a liquid explained on the basis of intermolecular forces?
Obtain a relationship between surface tension and surface energy of a liquid.
Find out the dimension of surface tension.

State Jurin’s law. 3+4+1+2



